
SAP ABAP table OIUX4_RESP_ID {Taxes Payable Responsibility ID}

OIUX4_RESP_ID

MANDT [CLNT (3)]

COMPANY [CHAR (3)]

LAND1 [CHAR (3)]

STATE_CD [CHAR (2)]

MAJPD_CD [CHAR (1)]

TAX_CD [CHAR (2)]

EFF_FROM_DT [DATS (8)]

OIUH_CM_OR1

MANDT [CLNT (3)]

OR1_OR_LVL_1_NO [CHAR (3)]

 OIUX4_RESP_ID-COMPANY = OIUH_CM_OR1-OR1_OR_LVL_1_NO 
0..N

0..N

OIU_CM_LXPGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]
 OIUX4_RESP_ID-STATE_CD = OIU_CM_LXPGL-PRI_GEO_LOC 0..N

0..N

OIU_CM_SEVTTY

MANDT [CLNT (3)]

COUNTRY [CHAR (3)]

PRIM_GEO_LOC [CHAR (2)]

SEVT_TAX_TY [CHAR (2)]

 OIUX4_RESP_ID-TAX_CD = OIU_CM_SEVTTY-SEVT_TAX_TY 
0..N0..N

T000

MANDT [CLNT (3)]

 OIUX4_RESP_ID-MANDT = T000-MANDT 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OIUX4_RESP_ID-LAND1 = T005-LAND1 

0..N

0..N


